F1L—RADFHFE13F

mERAND-EERBRE R

L= 201949A9H (AH)

£2R

SHREEH 8 58

. ecx MRIRES - xers (B-BR)

1R 1.2.3 800 m
el E | 2 E i S PR = £ i
e 5 PR | e | m # = |8 F| 2 4 L |REE|BRE | BERE) & % e 5 e | | @ m  # = |8 F| % 4 L |REE| BRE(EERS| F %
HEE EEE
EEES 2 | g > O—FHFE7
1|vajL Y3 - 54 FIE . i 438 1
(ﬁ)?i‘a:—?b—&a‘/E%??—L\ 7 4t £ |45 Rz SyPed g 48.7| A%
RAFRMK 2 ¥5 FYUHALRAIUR
2 |%48/5054 ¥35| o2 " 54| m# 515|M&XE| 478 >
BI7—L H|® s RORNISTT—
slmTntoron || 2| B 222 54| 3 |  53.6|EME| 428 3
- %x&tg 7 ft| & |5 VUIRTSFF L - oiake
4 4
5 5
6 6
7 7
8 8
2R ..3.5.4.2.1 1,000 m
gl E | 2 £ i S PR = S i
z & salg|E| m ® |2 |% F| 5 4 |Buem|E0E B B B 2 B & |sa|f|E| n # |g|® F|5 1 L |0n0 | SHE|BeEe| B B
EEE HES
YUTURE® 3| =[5 TSR A —
RusmuRsL 95| | B2 54| miE | 1.055| KNI 434 | 250 1
IV HERS B
L 3 #5 H LS\ —hk
2|y Tia ¥ st E — :xr:/\»raax 54| B 1.05.4|#=%3R| 494 250 2
PR S i
LA 3 ¥5 HREX
3 [TyUEA #3| | E s 54| b | 1.03.1|NBE| 474 | 250 3
S ikes E
\ B 3 vs TYHFARIUR
a{LFer—svk 95| | T o 5a| it | 1.05.3|ER%| 462 | 250 4
SR EE B _ _
EXHEE 3R xFa1z7r—2x
5|FAYUTADRL (U5 . i o EATUTATY 54|&+&| 1.03.3|/I&*| 514 250 5
B > : —
6 6
7 7
8 8
HBEAL  28FE 5708 XHBE. LESE WIS
—feE H‘HEES 4005 1.05.0 4005 LLF 1.06.0 2006 AT 1.07.0 80X LT 1.08.0 RHZERE 1.09.0
SRmEHE HBHESEL 20058 1.06.0 2005 LLF 1.07.0 B 1.08.0 KHER 1.09.0




